
Extra Examples

— Page references correspond to locations of Extra Examples icons in the textbook.

#1. Use the Principle of Mathematical Induction to prove that

1 + 5 + 52 + 53 + · · · + 5n =
5n+1 − 1

4
for all n ≥ 0.

Solution:

Let P (n) be 1 + 5 + 52 + 53 + · · · + 5n =
5n+1 − 1

4
.

BASIS STEP: P (0): 1 =
50+1 − 1

4
. (Note that the sum on the left side of P (0) begins and ends with 50,

and hence is just the first term, 1.) P (0) is true because both sides equal 1.

INDUCTIVE STEP: P (k) → P (k + 1): Suppose for some k, P (k) is true; i.e.

1 + 5 + 52 + 53 + · · · + 5k =
5k+1 − 1

4
.

We need to show that the next statement, P (k + 1), is true:

1 + 5 + 52 + 53 + · · · + 5k+1 =
5k+2 − 1

4

To do this, begin with P (k) and add the next term, 5k+1, to both sides. Then show that this is P (k + 1).

1 + 5 + 52 + 53 + · · · + 5k =
5k+1 − 1

4
+5k+1 +5k+1

1 + 5 + 52 + 53 + · · · + 5k + 5k+1 =
5k+1 − 1 + 4 · 5k+1

4

1 + 5 + 52 + 53 + · · · + 5k + 5k+1 =
(1 + 4)5k+1 − 1

4

1 + 5 + 52 + 53 + · · · + 5k + 5k+1 =
5 · 5k+1 − 1

4

1 + 5 + 52 + 53 + · · · + 5k + 5k+1 =
5k+2 − 1

4
.

This is P (k + 1). Hence P (k) → P (k + 1) is true.
Therefore, by the Principle of Mathematical Induction, P (n) is true for all n ≥ 0.

Note: Alternately, the proof of P (k) → P (k +1) can be written in this form. Note that the assumption that
P (k) is true is being used in the substitution in the first step.
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1 + 5 + 52 + 53 + · · · + 5k + 5k+1 = (1 + 5 + 52 + 53 + · · · + 5k) + 5k+1

=
5k+1 − 1

4
+ 5k+1

=
5k+1 − 1 + 4 · 5k+1

4

=
(1 + 4)5k+1 − 1

4

=
5 · 5k+1 − 1

4

=
5k+2 − 1

4
.

#2. Use the Principle of Mathematical Induction to prove the “generalized” distributive law

a(b1 + b2 + · · · + bn) = ab1 + ab2 + · · · + abn

for all integers n ≥ 2.

Solution:
For each positive integer n, let P (n) be the statement a(b1 + b2 + · · · + bn) = ab1 + ab2 + · · · + abn. To
give a proof using the Principle of Mathematical Induction, we need to show that P (2) is true and that
P (k) → P (k + 1) is true for all k ≥ 2.

P (2) is true: P (2) states that a(b1 + b2) = ab1 + ab2, which is the usual distributive law.

P (k) → P (k + 1) is true: Suppose k ≥ 2 and a(b1 + b2 + · · · + bk) = ab1 + ab2 + · · · + abk is true. We need
to show that a(b1 + b2 + · · ·+ bk+1) = ab1 + ab2 + · · ·+ abk+1. The key to showing this it rewriting the sum
on the left side as the sum of two numbers: b1 + b2 + · · · + bk+1 = (b1 + b2 + · · · + bk) + bk+1. We can then
use P (2) to split this apart. We have

a(b1 + b2 + · · · + bk+1) = a((b1 + b2 + · · · + bk) + bk+1)
= a(b1 + b2 + · · · + bk) + abk+1

= (ab1 + ab2 + · · · + abk) + abk+1

= ab1 + ab2 + · · · + abk + abk+1.

#3. Use the Principle of Mathematical Induction to prove that

n∑
i=1

(2i + 3) = n(n + 4) for all n ≥ 1.

Solution:
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Let P (n) be
n∑

i=1

(2i + 3) = n(n + 4).

BASIS STEP: P (1) is true because 2 + 3 = 1(1 + 4).

INDUCTIVE STEP: P (k) → P (k + 1): Suppose P (k) is true; that is,
k∑

i=1

(2i + 3) = k(k + 4).

Therefore,

k+1∑
i=1

(2i + 3) = k(k + 4) + (2k + 5)

= k2 + 6k + 5
= (k + 1)(k + 5)

which is P (k + 1). Thus, P (k) → P (k + 1) is true.

Therefore, by the Principle of Mathematical Induction, P (n) is true for all n ≥ 1.

#4. Find a formula for (
1 − 1

22

) (
1 − 1

32

) (
1 − 1

42

)
. . .

(
1 − 1

n2

)

for n ≥ 2, and use the Principle of Mathematical Induction to prove that the formula is correct.

Solution:
We first need to guess at a formula for the product. Using n = 2, 3, 4, 5 yields:

(
1 − 1

22

)
=

3
4

(
1 − 1

22

) (
1 − 1

32

)
=

3
4
· 8
9

=
2
3

(
1 − 1

22

) (
1 − 1

32

)(
1 − 1

42

)
=

3
4
· 8
9
· 15
16

=
5
8

(
1 − 1

22

) (
1 − 1

32

) (
1 − 1

42

) (
1 − 1

52

)
=

3
4
· 8
9
· 15
16

· 24
25

=
3
5
.

Thus, the products are
3
4
,
2
3
,
5
8
,
3
5
. Searching for a pattern, we see that we can rewrite these fractions

as
3
4
,
4
6
,
5
8
,

6
10

.

This suggests
n + 1
2n

as the general form for the sum.

Let P (n) be (
1 − 1

22

) (
1 − 1

32

) (
1 − 1

42

)
. . .

(
1 − 1

n2

)
=

n + 1
2n

.

We now try to show that this is true for all n ≥ 2.
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BASIS STEP: P (2) is true: P (2) states that
(

1 − 1
22

)
=

2 + 1
2 · 2 , which is true because both sides of this

equation are equal to
3
4
.

INDUCTIVE STEP: P (k) → P (k + 1): Suppose P (k) is true for an integer k ≥ 2.

Therefore
(

1 − 1
22

) (
1 − 1

32

) (
1 − 1

42

)
. . .

(
1 − 1

k2

)
=

k + 1
2k

.

Multiply both sides of this equation by 1 − 1
(k + 1)2

to obtain
(

1 − 1
22

) (
1 − 1

32

) (
1 − 1

42

)
. . .

(
1 − 1

k2

) (
1 − 1

(k + 1)2

)
=

k + 1
2k

(
1 − 1

(k + 1)2

)

=
k + 1
2k

(
(k + 1)2 − 1

(k + 1)2

)

=
k + 1
2k

· k(k + 2)
(k + 1)2

=
k + 2

2(k + 1)
,

which is P (k + 1).

We have shown that P (2) is true and that P (k) → P (k +1) is true for all k ≥ 2. Therefore, by the Principle
of Mathematical Induction, P (n) is true for all n ≥ 2.

#1.
integers n ≥ 2:

n∑
i=1

1√
i

>
√

n.

Solution:

Let P (k) be the inequality
k∑

i=1

1√
i

>
√

k. We need to show that P (2) is true and that P (k) → P (k + 1) is

true for all k ≥ 2.

P (2) is true: P (2) states that 1√
1

+ 1√
2

>
√

2. This is true because the left side is greater than 1.7, while
the right side is less than 1.5.

P (k) → P (k + 1) is true: Assume k is a positive integer (k ≥ 2) such that
k∑

i=1

1√
i

>
√

k is true. We need to

show that
k+1∑
i=1

1√
i

>
√

k + 1 is true. Take the inequality P (k) and add
1√

k + 1
to both sides, obtaining

k∑
i=1

1√
i

+
1√

k + 1
>

√
k +

1√
k + 1

.

If we can show that the right side,
√

k +
1√

k + 1
, is greater than

√
k + 1, we will have proved that P (k + 1)

is true. We will use backward reasoning.
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Begin by multiplying both sides of
√

k +
1√

k + 1
>

√
k + 1 by the positive number

√
k + 1 to obtain the

equivalent inequality

√
k + 1

(√
k +

1√
k + 1

)
>

√
k + 1

(√
k + 1

)
,

which simplifies to

√
k
√

k + 1 + 1 > k + 1,

or √
k(k + 1) > k.

But this last inequality is true because
√

k(k + 1) >
√

k · k = k. Reversing the steps shows that P (k + 1) is
true.

Because both P (2) and P (k) → P (k + 1) are true, the Principle of Mathematical Induction guarantees that
P (n) is true for all n ≥ 2.

#2. Use the Principle of Mathematical Induction to prove that n2 − 5n + 3 > 0 for all n ≥ 5.

Solution:
Let P (n) be n2 − 5n + 3 > 0.

BASIS STEP: The basis step is P (5). P (5) states that 52 − 5 · 5 + 3 > 0, which is true because 3 > 0.

INDUCTIVE STEP: P (k) → P (k+1): Assuming k2−5k+3 > 0, we need to show that (k+1)2−5(k+1)+3 >
0 is true. But

(k + 1)2 − 5(k + 1) + 3 = k2 + 2k + 1 − 5k − 5 + 3 = (k2 − 5k + 3) + (2k − 4).

We know that k2 − 5k + 3 is positive (it is P (k)), and 2k − 4 is positive because k is at least 5. Hence the
sum is positive; that is, P (k + 1) is true.

We have shown that P (5) is true and that P (k) → P (k +1) is true for all k ≥ 5. Therefore, by the Principle
of Mathematical Induction, P (n) is true for all n ≥ 5.

#1. Prove that 6 is a divisor of 4n + 7n + 1 for all positive integers n.

Solution:
Let P (n) be the statement 6 | 4n + 7n + 1.
P (1) is true: P (1) states that 6 | 41 + 71 + 1, or 6 | 12, which is true.

P (k) → P (k + 1): Suppose k is an integer for which P (k) is true. That is, 6 | 4k + 7k + 1. We need to show
that P (k + 1) is true; that is, that 6 | 4k+1 + 7k+1 + 1.

To show that P (k + 1) is true, we need to somehow connect 4k + 7k + 1 and 4k+1 + 7k+1 + 1. But
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4k+1 + 7k+1 + 1 = 4·4k + 7·7k + 1

= (4k + 3·4k) + (7k + 6·7k) + 1

= 4k + 7k + 1 + 3·4k + 6·7k

= 4k + 7k + 1 + 3·22k + 6·7k

= (4k + 7k + 1) + (3·2·22k−1) + (6·7k).

But each of the terms in parentheses is divisible by 6 — P (k) guarantees that the first term in parentheses
is divisible by 6, and the second and third terms in parentheses are each multiples of 6. Therefore, P (k + 1)
is true.

Because P (1) and P (k) → P (k + 1) are true, by the Principle of Mathematical Induction, P (n) is true for
all positive integers n.

#2. Use the Principle of Mathematical Induction to prove that 2 | (n2 − n) for all n ≥ 0.

Solution:
Let P (n) be 2 | (n2 − n).

BASIS STEP: P (0) is true because it is the statement 2 | 02 − 0, or 2 | 0.

INDUCTION STEP: P (k) → P (k + 1): Suppose P (k) is true; i.e., 2 | (k2 − k).
Then (k + 1)2 − (k + 1) = k2 + 2k + 1 − k − 1 = (k2 − k) + 2k. But 2 | (k2 − k) by P (k), and 2 | 2k because
2k is even. Therefore 2 is a divisor of the difference; i.e., 2 | (k + 1)2 − (k + 1). Hence P (k + 1) is true.

We have shown that P (0) is true and that P (k) → P (k +1) is true for all k ≥ 0. Therefore, by the Principle
of Mathematical Induction, P (n) is true for all n ≥ 0.

#3. Use mathematical induction to prove for all positive integers n, then 32n − 1 is divisible by 2n+2.

Solution:
BASIS STEP: The basis step follows because 321 − 1 = 32 − 1 = 8 is divisible by 21+2 = 23 = 8.

INDUCTIVE STEP: The inductive hypothesis is the assumption that 32k − 1 is divisible by 2k+2. Using
this assumption, we need to show that 32k+1 − 1 is divisible by 2k+3. To show this, note that 32k+1 − 1 =
32k·2 − 1 = (32k

)2 − 1 = (32k − 1)(32k

+ 1). By the inductive hypothesis, the first term in this last product
is divisible by 2k+2. The second term in this product is even because 32k

is odd. We conclude (by the
fundamental theorem of arithmetic) that this product is divisible by 2k+2 · 2 = 2k+3. This completes the
inductive step and the proof.

p.321, icon at Example 8

p.321, icon at Example 8

6



#4. Use mathematical induction to show that every positive integer not exceeding n! can be expressed as
the sum of at most n distinct divisors of n!

Solution:
BASIS STEP: 1 can be expressed as the sum of the single term 1 and 1 is a divisor of 1! = 1.

INDUCTIVE STEP: Assume that this statement holds for the positive integer k. That is, assume that
every positive integer not exceeding k! can be expressed as the sum of at most k distinct divisor of k!. Now
consider a positive integer m not exceeding (k+1)!. By the division algorithm, we can write m = q(k+1)+r
where q and r are integers with 0 ≤ r ≤ k. Moreover, because 0 < m < (k + 1)! and q = (m − r)/(k + 1),
we have 0 ≤ q ≤ k. If q = 0, then 1 ≤ m = r ≤ k and by the inductive hypothesis, m is the sum of distinct
divisors of k!, and consequently, the sum of distinct divisors of (k + 1)!. If q ≥ 1, then because q ≤ k, q can
be written as sum of at most k distinct divisors of k!. That is,

q = d1 + d2 + · · · + dj

with j ≤ k where d1, d2, . . . , dj are distinct divisors of k!. It follows that

m = q(k + 1) + r = d1(k + 1) + d2(k + 1) + · · · + dj(k + 1) + r.

This sum includes at most j + 1 terms. Because r < k + 1, the terms in this sum are distinct and each term
divides (k + 1)!, unless r = 0 in which case we omit it in the sum.
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1. Use mathematical induction to prove that 5n + 9n + 6 is divisible by 4 whenever n is a positive integer.

Solution.

Let P (n) be the statement that 5n + 9n + 6 is divisible by 4.

BASIS STEP: To complete the basis step, we msut show that P (1) is true, that is, that 51+91+6 is divisible
by 4. This is true because 51 + 91 + 6 = 5 + 9 + 6 = 20 = 5 · 4.

INDUCTIVE STEP: For the inductive hypothesis we assume that P (k) is true for an arbitrary positive
integer k, that is, that 5k + 9k + 6 is divisible by 4. To complete the inductive step, we must show that
when we assume the inductive hypothesis P (k) is true, then P (k + 1), the statement that 5k+1 + 9k+1 + 6
is divisible by 4, is also true.

We will show that the d, difference of 5k+1 + 9k+1 + 6 and 5k + 9k + 6, is divisible by 4. Once we have done
this, we can use the inductive hypothesis to show that 5k+1 + 9k+1 + 6 is divisible by 4. Note that

d = (5k+1 + 9k+1 + 6)− 5(5k + 9k + 6) = 9 · 9k + 6− 5 · 9k − 30 = 4 · 9k − 24 = 4(9k − 6).

Hence, d = (5k+1 + 9k+1 + 6)− (5k + 9k + 6) is divisible by 4. Recall that the induction hypothesis tells us
that 5k + 9k + 6 is divisible by 4. Hence, 5k+1 + 9k+1 + 6 = d + (5k + 9k + 6) is also divisible by 4 because
it is the sum of two terms each divisible by 4. This completes the inductive proof.
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#1. Prove that for all positive integers n,
(2n)!
2nn!

is odd.

Solution:

For each positive integer n, let P (n) be the statement
(2n)!
2nn!

is odd. To give a proof using the Principle of

Mathematical Induction, we need to show that P (1) is true and that P (k) → P (k + 1) is true for all k ≥ 1.

P (1) is true: P (1) states that
(2·1)!
21·1!

is odd. But
(2·1)!
21·1!

=
2
2

= 1, which is odd.

P (k) → P (k + 1) is true: Suppose that k is an integer such that
(2k)!
2kk!

is odd. We need to show that

(2(k + 1))!
2k+1(k + 1)!

is odd.

But
(2(k + 1))!

2k+1(k + 1)!
=

(2k + 2)!
2k+1(k + 1)!

=
(2k + 2)(2k + 1)(2k)!

2·2k · (k + 1)·k!
=

2(k + 1)(2k + 1)(2k)!
2·(k + 1)·2k·k!

= (2k + 1) · (2k)!
2k·k!

.

The factor 2k + 1 is odd because of its form, and the second factor is odd by the assumption P (k). We have
a product of two odd integers. Therefore, the product is odd.

The statement P (1) and P (k) → P (k + 1) are both true. Therefore, by the Principle of Mathematical
Induction, P (n) is true for all positive integers.
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#2. Muddy Children Puzzle: The teacher of a group of children tells these children to play in their
schoolyard without getting dirty. However, while playing, exactly n children get mud on their foreheads.
When the children come back to the classroom after playing, the teacher states: “At least one of you has
a muddy forehead” and then asks the children to answer “Yes” or “No” to the question: “Do you know
whether you have a muddy forehead?”
The teacher asks this question over and over. What will the children with the muddy foreheads answer each
time this question is asked, assuming that a child can see whether other children have muddy foreheads,
but cannot see his or her own forehead? Furthermore, we assume that each child is honest, intelligent, and
perceptive, and that all children answer each question simultaneously. (Note that the reason that the answer
can differ when the question is asked repeatedly is that the children might learn from the previous answers
of the other children.)

Solution:
We will use the Principle of Mathematical Induction to prove the following proposition:

P (n): “the n children with muddy foreheads will answer ‘No’ each of the first n − 1 times
the question is asked, but all the children with muddy foreheads will answer ‘Yes’ the nth time.”

BASIS STEP: Suppose that n = 1. The first time the question is asked, the sole child with a muddy forehead
concludes that his or her forehead must be muddy because the teacher has announced that “At least one
of you has a muddy forehead” and no other child has a muddy forehead. Consequently, this child answers
“Yes.”

Before turning to the inductive step, to gain some insight we consider the cases k = 2 and k = 3.

First, suppose that k = 2. Each of the two muddy children will answer “No” the first time the question is
asked because of the mud on the other muddy child’s forehead. Once the other muddy child has answered
“No”, each of the two muddy children knows that his or her forehead is dirty, because if it were clean the
other child with a dirty forehead would have answered “Yes” the first time.

Next suppose that k = 3. One of the three children with mud on his or her forehead reasons as follows.
Suppose that my forehead is clean. Then there are just two muddy children and by the k = 2 case both of
these children will answer “Yes” the second time the question is asked. When they do not, this child knows
that his or her forehead must be dirty. Consequently, all three children answer “Yes” the third time the
question is asked.

INDUCTIVE STEP: Assume that P (k) is true, that is, that if precisely k children have muddy foreheads,
the first k−1 times the question is asked, the muddy children will answer “No”, but the kth time it is asked,
they all answer “Yes”. Now assume that there are k + 1 children with muddy foreheads.

A child with a muddy forehead will figure out how to answer the (k + 1)st question as follows. Suppose
that my forehead is clean, so that there are exactly k children with muddy foreheads, namely all the other
k children whom I see have muddy foreheads. Then by the induction hypothesis, this child expects that the
children with muddy foreheads will answer “No” the first k − 1 times the question is asked, but “Yes” the
kth time it is asked. But when this does not happen, the child with the muddy forehead concludes that his
or her forehead is muddy.

Consequently, the k + 1 children with muddy foreheads all answer “Yes” the (k + 1)st time the question is
asked.

We have shown that P (1) is true and that P (k) → P (k +1) is true for all n ≥ 1. Therefore, by the Principle
of Mathematical Induction, the statement P (n) is true for all n ≥ 1.

p.325, icon at Example 13

9



<<
  /ASCII85EncodePages false
  /AllowTransparency false
  /AutoPositionEPSFiles true
  /AutoRotatePages /None
  /Binding /Left
  /CalGrayProfile (Gray Gamma 2.2)
  /CalRGBProfile (sRGB IEC61966-2.1)
  /CalCMYKProfile (U.S. Web Coated \050SWOP\051 v2)
  /sRGBProfile (sRGB IEC61966-2.1)
  /CannotEmbedFontPolicy /Warning
  /CompatibilityLevel 1.4
  /CompressObjects /Off
  /CompressPages true
  /ConvertImagesToIndexed true
  /PassThroughJPEGImages true
  /CreateJDFFile false
  /CreateJobTicket false
  /DefaultRenderingIntent /Default
  /DetectBlends true
  /DetectCurves 0.1000
  /ColorConversionStrategy /LeaveColorUnchanged
  /DoThumbnails true
  /EmbedAllFonts true
  /EmbedOpenType false
  /ParseICCProfilesInComments true
  /EmbedJobOptions true
  /DSCReportingLevel 0
  /EmitDSCWarnings false
  /EndPage -1
  /ImageMemory 1048576
  /LockDistillerParams true
  /MaxSubsetPct 100
  /Optimize true
  /OPM 1
  /ParseDSCComments true
  /ParseDSCCommentsForDocInfo true
  /PreserveCopyPage true
  /PreserveDICMYKValues true
  /PreserveEPSInfo true
  /PreserveFlatness true
  /PreserveHalftoneInfo false
  /PreserveOPIComments false
  /PreserveOverprintSettings true
  /StartPage 1
  /SubsetFonts true
  /TransferFunctionInfo /Remove
  /UCRandBGInfo /Preserve
  /UsePrologue false
  /ColorSettingsFile ()
  /AlwaysEmbed [ true
  ]
  /NeverEmbed [ true
  ]
  /AntiAliasColorImages false
  /CropColorImages true
  /ColorImageMinResolution 150
  /ColorImageMinResolutionPolicy /OK
  /DownsampleColorImages false
  /ColorImageDownsampleType /Bicubic
  /ColorImageResolution 300
  /ColorImageDepth 8
  /ColorImageMinDownsampleDepth 1
  /ColorImageDownsampleThreshold 1.50000
  /EncodeColorImages true
  /ColorImageFilter /FlateEncode
  /AutoFilterColorImages false
  /ColorImageAutoFilterStrategy /JPEG
  /ColorACSImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /ColorImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000ColorACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /JPEG2000ColorImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /AntiAliasGrayImages false
  /CropGrayImages true
  /GrayImageMinResolution 150
  /GrayImageMinResolutionPolicy /OK
  /DownsampleGrayImages false
  /GrayImageDownsampleType /Bicubic
  /GrayImageResolution 300
  /GrayImageDepth 8
  /GrayImageMinDownsampleDepth 2
  /GrayImageDownsampleThreshold 1.50000
  /EncodeGrayImages true
  /GrayImageFilter /FlateEncode
  /AutoFilterGrayImages false
  /GrayImageAutoFilterStrategy /JPEG
  /GrayACSImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /GrayImageDict <<
    /QFactor 0.76
    /HSamples [2 1 1 2] /VSamples [2 1 1 2]
  >>
  /JPEG2000GrayACSImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /JPEG2000GrayImageDict <<
    /TileWidth 256
    /TileHeight 256
    /Quality 15
  >>
  /AntiAliasMonoImages false
  /CropMonoImages true
  /MonoImageMinResolution 1200
  /MonoImageMinResolutionPolicy /OK
  /DownsampleMonoImages false
  /MonoImageDownsampleType /Bicubic
  /MonoImageResolution 1200
  /MonoImageDepth -1
  /MonoImageDownsampleThreshold 1.50000
  /EncodeMonoImages true
  /MonoImageFilter /CCITTFaxEncode
  /MonoImageDict <<
    /K -1
  >>
  /AllowPSXObjects false
  /CheckCompliance [
    /None
  ]
  /PDFX1aCheck false
  /PDFX3Check false
  /PDFXCompliantPDFOnly false
  /PDFXNoTrimBoxError true
  /PDFXTrimBoxToMediaBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXSetBleedBoxToMediaBox true
  /PDFXBleedBoxToTrimBoxOffset [
    0.00000
    0.00000
    0.00000
    0.00000
  ]
  /PDFXOutputIntentProfile (None)
  /PDFXOutputConditionIdentifier ()
  /PDFXOutputCondition ()
  /PDFXRegistryName ()
  /PDFXTrapped /False

  /Description <<
    /CHS <FEFF4f7f75288fd94e9b8bbe5b9a521b5efa7684002000410064006f006200650020005000440046002065876863900275284e8e55464e1a65876863768467e5770b548c62535370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c676562535f00521b5efa768400200050004400460020658768633002>
    /CHT <FEFF4f7f752890194e9b8a2d7f6e5efa7acb7684002000410064006f006200650020005000440046002065874ef69069752865bc666e901a554652d965874ef6768467e5770b548c52175370300260a853ef4ee54f7f75280020004100630072006f0062006100740020548c002000410064006f00620065002000520065006100640065007200200035002e003000204ee553ca66f49ad87248672c4f86958b555f5df25efa7acb76840020005000440046002065874ef63002>
    /DAN <>
    /DEU <>
    /ESP <>
    /FRA <>
    /ITA (Utilizzare queste impostazioni per creare documenti Adobe PDF adatti per visualizzare e stampare documenti aziendali in modo affidabile. I documenti PDF creati possono essere aperti con Acrobat e Adobe Reader 5.0 e versioni successive.)
    /JPN <>
    /KOR <FEFFc7740020c124c815c7440020c0acc6a9d558c5ec0020be44c988b2c8c2a40020bb38c11cb97c0020c548c815c801c73cb85c0020bcf4ace00020c778c1c4d558b2940020b3700020ac00c7a50020c801d569d55c002000410064006f0062006500200050004400460020bb38c11cb97c0020c791c131d569b2c8b2e4002e0020c774b807ac8c0020c791c131b41c00200050004400460020bb38c11cb2940020004100630072006f0062006100740020bc0f002000410064006f00620065002000520065006100640065007200200035002e00300020c774c0c1c5d0c11c0020c5f40020c2180020c788c2b5b2c8b2e4002e>
    /NLD (Gebruik deze instellingen om Adobe PDF-documenten te maken waarmee zakelijke documenten betrouwbaar kunnen worden weergegeven en afgedrukt. De gemaakte PDF-documenten kunnen worden geopend met Acrobat en Adobe Reader 5.0 en hoger.)
    /NOR <>
    /PTB <>
    /SUO <>
    /SVE <>
    /ENU (Use these settings to create Adobe PDF documents suitable for reliable viewing and printing of business documents.  Created PDF documents can be opened with Acrobat and Adobe Reader 5.0 and later.)
  >>
>> setdistillerparams
<<
  /HWResolution [2400 2400]
  /PageSize [612.000 792.000]
>> setpagedevice


	Text2: 
	Text3: 
	Text4: 
	Text5: 
	Text6: 
	Text7: 
	Text8: 
	Text9: 
	Text10: 
	Text11: 
	Text12: 
	Text13: 
	hideall: 
	showall: 
	Button4hide: 
	Button3see: 
	Button5see: 
	Button6hide: 
	Button8hide: 
	Button7see: 
	Button10hide: 
	Button9see: 
	Button11see: 
	Button12hide: 
	Button13see: 
	Button14hide: 
	Button15see: 
	Button16hide: 
	Button18hide: 
	Button17see: 
	Button19see: 
	Button20hide: 
	Button21see: 
	Button22hide: 
	Button24hide: 
	Button23see: 
	Text14: 
	Button25see: 
	Button26hide: 
	Button27hide: 
	Button28see: 


